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Question 1
A) Public expenditure will continue to increase. Discuss.

Answer
Public expenditure is spending made by the government of a country on collective needs and wants such as pension, provision, infrastructure, etc. public expenditure continues to rise and rise overtime and there are a number of reasons for this.
Population growth — It increases with the increase in population, more of investment is required to be done by government on law and order, education, infrastructure, etc. investment in different fields depending on the different age group is required.
Inflation — This is the general rise in the price level of goods and services. It increases the cost of all activities of the public sector and thus a major factor in growth in money terms of public expenditure.
Provision of public and utility services — provision of basic public goods given by government (their maintenance and installation) such as transportation, electricity, water etec especially with a growing population.
Accelerating economic growth — in order to raise the standard of living of the people, the government will need to spend more and more
Price rise — higher price levels also compel the government to spend an increased amount on purchase of goods and services
Increase in public revenue — with the rise in public revenue i.e an increase in per capita income, the government is bound to increase the public expenditure.
International obligation — maintenance of socio-economic obligation, cultural exchange etc. (these are indirect expenses of government)
B) Explain the various canons of public expenditure with appropriate scenarios
Answer
i) Canon of benefit:
This canon implies that public expenditure should be planned in such a way as to yield    maximum social advantage and social welfare to the community as a whole and not to a particular group of the community. 

For example, a govenor should not focus public expenditure towards his constituency or tribe. It should benefit all.
ii) canon of eceonomy:
According to Findlay Shirras canon of economy should be observed in public expenditure. Economy does not mean stinginess, but avoid-ance of waste and extravagance. Limited revenue resources should be used in a productive manner.
Duplication of expenditure and over-lapping of authorities should be avoided. The money spend should result in the creation of productive powers of the society.

For example, the government should stop spending so much money on ministers allowances such as expensive cars. They should rather invest it into the betterment of the country
iii) Canon of sanction
This canon requires that the public authorities should spend money, only after obtaining prior sanction from the concerned authority for the specified purpose. This is done as a safeguard against the possibility of unwise and reckless expenditure.

This can be seen in the bureaucratic nature of the government. Whereby spending can't be done without approval from an authority.
iv) Canon of Neutrality
Canon of neutrality implies that public expenditure should have no adverse effect on production and distribution activities of the economy. Public expenditure should only result in increased production, reduced inequality of income and wealth and increased economic activity.

For example, a situation where the government is spending on things that affect the productive capacity of the people or discourages production is going against the canon of neutrality.

v) Canon of Productivity:
This canon implies that, expenditure policy of the government should encourage production and productive efficiency of the economy. Public expenditure should be always directed towards enhancing the pro-ductive capacity of the economy.
vi) Canon of Surplus:
The government should always aim at a surplus of income over ex-penditure. Shirras observes public authorities must earn their living and pave their way like ordinary citizens. Government must live within his means. It should not always overspend and run into permanent deficits years after years.
B Why do governments borrow? Looking at the situation of the Nigerian state, will you advise borrowing? Justify your answer.
Answer
Governments borrow for a lot of reasons. Countries borrows money from each other for projects, national gifts, defense, infrastructure, friendship building, fund their own government operations, natural disasters reliefs, construction projects, healthcare initiatives, education, port building, improve electricity grids, water quality, air pollutions, transportations, lights, police, create business opportunities. All countries do that to certain extent in order to improve lives of their citizens.
looking at Nigerias situation, When Buhari took over in 2015, from $63.81 billion, Nigerias debt grew to $83.88 billion by June 2019. Nigerias debt has grown more than double (N13.58 trillion) from N12.12 trillion in June 2015 to N25.70 trillion in June 2019 — due to the devaluation of naira which occurred within the period. A dollar exchanged for naira at N196.95 as at June 2015, but in June 2019, the rate weakened to N306.4 per dollar.
The countrys debt has grown to $83.88 billion which is made up of $27.163 billion in external debt and $56.72 billion owed domestically, it points to currency fluctuations for the varying accounts of Nigerias debt. Also, since borrowers are expected to repay in the currency they borrowed regardless of exchange rate movement, the debt records show Buharis administration has increased Nigerias external debt by $16.84 billion (from $10.32 billion in June 2015 to $27.16 billion in June 2019), and domestic debt by N7.29 trillion (from N10.09 trillion in June 2015 to N17.38 trillion in June 2019).
With these statistics, its clear that borrowing, especially external borrowing will not be the best idea for us as a country. Our debt profile is already mounting precariously and if care is not taken, soon we will be knee deep in debt which will unavoidably lead us into a debt trap. With the economy floundering, the federal government's inability to diversify the economy and its weak revenue generating profile, We cant even see the effects of all the monies that have been borrowed over time. Monies that should have been properly invested to improve these aspects. And due to all this, woth any further borrowing, the country may find it extremely difficult to meet its debt obligations in the future especially now that there is a plunge in crude oil prices which was our one major revenue generation source.
With all said, no, i would not advise borrowing for the Nigerian state. It will cause more harm than good.
Question 2
A) What are the indicators of a Laissez- Faire economy by Adam Smith?
Answer
Adam Smith contained all his ideas in his book Wealth of Nations. The most important aspect of this book was a Theory of Economic Development. According to him, If every individual member of society is left to peruse his economic activity, he will maximize the output to the best of his ability. Freedom of action brings out the best of an individual which increases society wealth and progress. Adam Smith opposed any government intervention in industry and commerce.
some of the indicators of a laissez faire economy are;
The individual is the basic unit and mover in economics
Individual rights and freedoms are to be protected, this is the role of government
The natural order of things in nature, the physical world, and economics are self-regulating creating a harmony
Watch corporations for the disruption of the spontaneous order
B) As the new cheif economic advsier of your state, how best will you want your tenure to be remembered, noting that government cannot do it all alone
Answer
As chief economic adviser of Delta State, i would advise and convince the government as best as i can to invest in the educational sector. Illiteracy is one major cause of Delta's economic problems.
I would ensure that an effective tax collection system is put in place and at the same time push for public sensitization on why it is for the peoples own good to pay their tax
I would, through my position of influence in the government house, kick against white elephant projects and unproductive activities and discourage them. I will ensure that public expenditure is vested towards things that will contribute positively to the economy. Because over the years, there has been alot of misappropriation of state funds and embezzlement under the guise of lofty sounding projects.
C) With practical examples, identify the canons of taxation as proposed by Adam Smith. How practical are the canons to the Nigerian?
Answer
Canon of equity- According to Adam Smith's canon, taxation imposed on an individual should be in accordance with his ability to pay. 
For eample, it would be unfair to tax a taxi driver the same amount as a business executive. Their income levels and therefore abilities to pay are far apart.
Canon of certainty- A tax should not cause hardship to the tax payer. Therefore, this canon requires that the tax payer should be certain about the amount, time and revenue of payment of the tax. 
For example, every citizen ought to be informed and aware of where, when, how much, in what manner etc to pay tax
Canon of convenience- This maxim seems to ensure that the time and method of payment of the tax become most convenient to the tax payer. 
For example, most Nigerian organisations use the pay as you earn (PAYE) means of payment. At the end of each month, the tax percentage is paid to the government before the worker receives his net salary. This method is very convenient and stress free for the tax payers.
Canon of economy- This principle indicates that a good tax system will require the least possible expenditure on collection of taxes. If a large part of the tax revenues is spent in collecting it, it is undoubtedly an inefficient tax system.
For example, in a case were tax collectors are going around communities to ensure payment, if the cost of transport, cost of administering the tax and other costs invovled to carry the tax collection out is more that the tax collected itself, then it is uneconomical. It defeats the point which is to earn revenue for the government
In the case of Nigeria, i will say the canon of economy is generally not very sound due to factors such as corrupt personnel, transport network issues, inefficient exof collection, ignorance and illiteracy etc
The canons of certainty and convenience can majorly be seen put to work in corporate and organized systems and organisations. Most Nigerians dont enjoy that. Especially those in rural areas.
The canon of equity is being executed in Nigeria through the use of a progressive tax system whereby in proportion to their income, higher earners are taxed higher than lower earners to ensure everyone is trated fairly.
